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The most useful indicator for fertility is

A) General fertility ra’;e
B) Total fertility rate

C) Cause fatality rate



D) All of the above

Which of the following is the best indicator of health status of a (2
: community

A) birth rate
infant mortality rate
crude death rate

none of the above

(3
:All of these factors directly affect fertility except for
A) :
social roles
B) .
economic
C
) health
D)
abortion
(4

Which of the following is the most common proximal determinant of
. fertility rates in the US

abortion

contraception



Malnutrition
D)
Infectious diseases
E)A +b
(5
( The country with the lowest fertility rate is ( very repetitive
A) Brazil
B)
Spain
C) :
Australia
D
) Russia
(6
Population pyramid of Jordan looks like (Very repetitive
(
A) : :
rich countries
B) :
Developed countries
C)
Civilized countries
D)

Developing countries

(7



Infant mortality rate in the 2017 is

A)
30 /1000
B)
1000 /20
C)
3/1000
D)
1000 /17
(8
What happens first in demographic transition
A low birth then low death
i Death rates decline then birth
C)

The death rate and the birth rate are declining at the same time

(9
Life expectancy for both females and males,respectively, Jordan for
(2017 : ( very repetitive

(10
A common way to spacing between children in US

Contraception

2\



v)

abortion

c) Breastfeeding

D) A+b

: The fertility rate in Jordan for the year 2017 is

2.7
3.5

2.4

(12
The infant mortality rate for 2017 in Jordan is

1000/ 30
1000/ 3

1000 /17

(13
All of the following rates are calculated divided by 1000 except

8) Crude death rate

b) :
Infant mortality rate

criide hirth rate
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d
: Maternal mortality rate

(14
Population growth rate in Jordan for the year 2017

31.5

2.1
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(15
Fertility rate is directly proportional to

a) Good food

b) Economic status
c) Values and culture
d)Sexual union

(16
The lowest crude birth rates are found in countries in which stage of (3
?the demographic transition

A) Stage 1

B) Stage 2
C) Stage 3
D) stage 4

(17
More developed countries moved from Stage 1 to Stage 2 of the



: demographicvtransition because of

.A) people moving to cities

.C) decreasing crude birth rates

D) invention of new technologies for family planning

E) improvement in health care services

18)
The shape of a country's population pyramid is determined primarily by
its
A) infant mortality rate
B) demographic ratio

.C) crude birth rate

(19
For every 1,000 babies born in Burundi in 2008, an estimated 120 of
them will have died before reaching their first birthday

:Based on that, the infant mortality rate is equal to
(use k=100)

12

3
15
39

(20
if a country has a population of 1 million, and 15,000 babies were born
last year in that country, Based on that , the crude birth rate is equal

A
) 12



10

15

(21

: Number of births per thousand people in the population

A)Growth rate
B)Crude birth rate
c)Conception rate

D)Reproduction rate

(22
In demography we study

A)Decrease or increase in population
B)Ratio of different age groups of males and females
C)Distribution of population in different countries

D)AII of the above

(23

? Infant Mortality is experienced in terms of
a) Per 1000

b) Per 1,00,000

c) Per 100

d) Per 10,00,000



(24

Total no. of death in a year over
?thousand population is termed as
a) IMR

b) MMR

c) Death rate

d) Perinatal mortality rate

(25

Maternal mortality ratio is expressed as
?female deaths per

a) 1000 live birth

b)100000 live births

¢)1000 pregnancy

d) 100000 pregnancy

(26
?What is the definition of sex ratio

a) Number of deaths per 1,000 live births of children)
b) Number of women per 1000 men)
c) Number of women per 100000 men)

d) Number of men per 100 women
(27
?What does infant mortality mean

a) The number of deaths per 1,000 live)
births of children under 1 year of age

b) Death of children under the age of 5)
years

c) Death of children before the age of 6)
months
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a) weartn or cniiaren unaer e age or 3)
years

(28
?What is the Maternal Mortality Rate

a) Women's death occurred before 9th)
month of pregnancy

b) The annual number of female deaths)
per 100,000 live births due to pregnancy

c) The death of women occurred within 2)
year of childbirth

d) None of the above)

(29

If the number of deaths due to
a certain disease for the
year 2002 in the United States

is equal to 106,742 , and the number of persons contracting the
disease during this period is equal 288,357,000 , calculate the mortality

(use k = 100000 )

. rate

cause specific sa 1.3 mortality rate JI ¢ o3 « (29 )Jlswull ala : daa¥a
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ANSWERS:

D



1) D

2)b

3)d

4 E

5) b

6)d

7)d

8)b
9)74.3,72.8
10) D

11) a

12) C

13)d

14) b

15)d

16) d

17) €

18) C

19) a

20) C

21)b

22)d

23) per 1000
24) Death rate
25) 100000 live birth
26) D

27)a

28) b

29) 37






